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AN 23HSD
M o= s
Helr 20z MY (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
04 JI2ZtHZ22HEE =+ 28,024 6,755 21,269
OZFZstol=3z 2 Aldatel 14,197
—Jlas 38,8803 * 1 = 2902 11,276
—52Z22xE 38,880 * 18 » 41 1,595
— 42 = 12,869,280& = 0.103 1,326
OJIE3d ¢t &R0 o2
45,940& * 6F = 102 2,757
OJIEHAl U E 20| 12
45,940& * 1H * 302 * 53 6,891
OJI&g 3¢ - dA ZAH 23 202¢
45,9403 * 2H * 153 1,379
O3¢ - dAl ¢HE=SRD 225 7Y
200,000& = 7& = 23] 2,800
201 ¢4l 386,638 55,200 331,438
01 AF2 22l bl 163,063 27,800 125,263
Ogt=8Hl 124,083
—ANREEF 7Y 200,000& 105 2,000
—UHgEH HEe 88 7Y 2,040
o= 5,000& * 30 * 128 1,800
dezy 7 10,000& = 24Xt « 128 240
— 20 FHl AIAE EHHl 280,0008 * 123 3,360
—2RUH=Z 425 7Y
40,0003 = 405 = 22l 3,200
—SUIAH 225 7
50,000& = 20& = 23l 2,000
—RUsE A2E 7Y
100,000& * 105 * 28 2,000
—Jlg 2H - HdA 222 A 36,000
SRSl= 200 = 3,00004 * 153 9,000
- ZAH 1,500& = 20004 * 152 4,500
80 50,000 = 2008 = 153 15,000
=g 500& * 1,00008 = 152/ 7,500
—EE=2 M 300,000& » 15% 4,500
—dJAndE 2= 20,0003 * 2& ~ 123 480
—3¢E Hot: =&l
200,000& = 204 43l 1,600
—3¢E Hot: SA2cl
1,000,000& * 20H * 13/ 2,000
—gxg 37 7Y & MNEH
1,500,000& = 12l 1,500
—SHEE=E 7Y 20,0003 = 5&f Xt « 128 1,200
—St&a AHOIAE SHEX 2
30,0003 = 5&f Xt « 128 1,800
—st&d NEM X e
20,0003 = 200H A = 128 4,800




fAM: 2=
N 23 0sAE
& 230z At (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—MgJIsE 7Y 1,950& = 4000H 780
—230=32 g A=
90& * 4,758m x 43| 1,713
—AYAME BHEUEY 28
770,000& = 13l 770
—AYAM gaBl HELER
180,000& * 122 2,160
HA S)
100,000& * 12& 1,200
29
30,000% = 5& 123 1,800
SHOIX =X 2ell
200,0008 * 128 2,400
— Dol e B Fa e
00,000& = 123 6,000
— =32 FA S|
1,500,000& » 2H » 12& 36,000
—HHEF 7Y 100,000& * 15& * 13 1,500
—JlA=2l8 37 £ ME 40,0008 * 323 1,280
ozg=¢ 27,980
—2340=32 2L+ 27,980
A HFHxZ 70,0003 x 12 * 23] 1,680
2 A Y| 60,0003 = 1% = 115¢ 6,900
=2l 50,000& = 1¥ = 250 12,500
S22 8¢ =l
60,0003+ 1 = 115 6,900
ou=l 1,000
— 25t0=3 2 MY 22 P2
200,000& = 5H « 13l 1,000
02 =224l 136,575 22,400 114,175
Oz3&2= & HA 109,483
—RERS 4,500
2SE= 240 * 1,5008 * 128 4,320
sS)fE= 1,500& = 10& ~ 12& 180
— &z 87,898
2z 7,4303 * 360kw » 128 32,098
AEZ 93& * 50,000kw * 12& 55,800
~HHZE HA 2R
22,000& = 90 * 13l 1,980
—a=E= 1,500& = 400m » 12& 7,200
—ot=E= 4102 * 400m = 128 1,968
-2 08 23 1503 = 400m = 123 720
-V R €82 13,2003 = 204 » 123 317
— 520 HIZEMN =22
100,000& 204 = 128 2,400




fAM: 2=
A BU=TE
& 230z At (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— SISt 2HEs A3
2,500,000 = 13 2,500
O =l 600
—HlagEI| AZHI(BR)
2,000& = 2004 = 13l 400
— X 20,000& = 10 200
OAIE ZHlI S X 26,492
— e ZX 2H WE 38,0008 * 54% 2,052
stz 2 bte Fa
2,000& = 4,670m 9,340
—293 ¥4 42
1,500& = 500 * 23l 1,500
— SUIIAHAE = X2eld]
2,000,000 * 23] 4,000
—SUHEZEANE S22
1,200,000& * 23] 2,400
—RUSEAME A2l
1,200,000& * 23] 2,400
— OIS AIAE 2 HAH |X22l
400,000 = 123 4,800
03 A2 Z Hl 97,000 5,000 92,000
OFsttl=sl2 dA2H 25,000, 000& 25,000
Odstad 3,000,000& * 243 72,000
202 Oddl 5,940 0 5,940
01 = LH 4 Hi 5,940 0 5,940
Ozstll=sl2 g2=2
165,000 * 3% » 12& 5,940
203 ¥ S =&l 1,000 0 1,000
03 AIHZ=XH =] 1,000 0 1,000
Ozstll=s 2= XA 200,000& =« 53| 1,000
206 M= Hl 4,300 0 4,300
01 =4l 4,300 0 4,300
Ozt ¢ 200,000& = 204 4,000
Otlz 5,000& = 153 « 43| 300
301 et d = 525,000 50,000 475,000
10 #ALAHI 2 A3 525,000 50,000 475,000
OJlez2dA 40,000,000& = 103l 400,000
OJI& & Al 25,000,000 * 53] 125,000
401 Al HI R 201 I 94,500 4,000,000 23,905,500
01 A& HI 94,500 4,000,000 23,905,500
SUHXEZ B S8 £X BA
30,000,000& 30,000
SUHIXTHA SEESA 25,000, 000& 25,000




SN 2AHSD
HH: S3l=srE
Sl SE0E A (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O&Y| Bt 2lZE 4X
25,000,000& * 1CH 25,000
O8+8 AHAIH &X 10,000,000& * 1J0 A 10,000
OcCCcTV ¢ 4,500,000& * 1CH 4,500
405 Ko SHI 222,198 303,800 AN 81,602
01 MM =S FSHI 222,198 303,800 A 81,602
ORUH 23 #*¢ 27,500
—2E0ME 1,200,000& » 92 10,800
- 20 2 2,125,000 = 40H 8,500
—220E 220 7 2,600,000& = 24 5,200
—2UHIYESsE HE 2¢
20,000& = 150& 3,000
SZEYHAF 7 700,000 = 1CH 700
Os%L)| 2 500,000& = 1CH 500
OouxI 2¢ 500,000& = 1CH 500
O2UJ1H clRE 25 ¢
20,000,000& * 1CH 20,000
oorola #2¢ 20,908
— 24 0tol3a 4,500,000& * 3CH 13,500
— 84 0tol3a 463,000 = 160H 7,408
onrola AsHE 2l 9,800
— &40 230,000€ * 20CH 4,600
— o) E4HE 230,000& = 20CH 4,600
— b= 60,000 * 10CH 600
oarola &g P2 600,000& = 3H 1,800
OdJlgl &H ¢ 5,400
— I A 2,500,000& = 204 5,000
- &53| 200,000 = 2CH 400
OEctOo] OtolA &l ¢ 700,000& = 2CH 1,400
ORUx=YII 7¢ 104,640
— I 2t0IE(MH) 190,000 = 60CH 11,400
— I 2t01E(A) 140,000 = 50CH 7,000
— 53 2I0lE 1,700,000& = 4 E 6,800
— 3 2I0IE(4FP) 280,000 = BAE 2,240
—AEZ2E (HIlg &)
2,500,000& = 4CH 10,000
— LED R 820l E 2,800,000& = 24CH 67,200
Og&A CXE TV 2 1,500,000& * 1CH 1,500
OFE EIE Jtet 2 2,500,000& = 104 2,500
OJtier g= el 1,500,000& * 2CH 3,000
O3dE Oot: 28ttt #+¢
10,000,000 = 1CH 10,000
OdRUINA & Hess +¢ 1,150




EX: S3Hs
HzM: S sIE
e 23tz MY (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— 58 8E Y3 650,000 = 1JH 650
—AEZEEAE SHAIAAE 500,000& = 1JH 500
OJteASA Hd 2l 3,000,000 = 14! 3,000
OEEZ HOlA 7 330,000& = 1204 3,960
O2ttle ¢ 320,000 = 8OH 2,560
OJIAx2ls 87 #+¢ 1,380
—d=SE20lH 200,000 = 1CH 200
—&do|led 110,000 ~ 1CH 110
—&NBHAD| 170,000 = 1CH 170
—MI|IAHE 130,000& * 1CH 130
—diold H2=HED| 210,000& = 1CH 210
==l 240,000& ~ 10CH 240
—YEESE 160,000 * 1CH 160
—&=MS(H2H0E) 160,000 = 1CH 160
2E2CAS 2Y 167,000 1,067,000 A 900,000
= 80,216
< 1,000
= 85,784
308 MXISHMSOIA 167,000 1,067,000 A 900,000
= 80,216
< 1,000
o 85,784
06 UEI20HUSEEX= 167,000 1,067,000 900,000
OsHEZSSEAS a2 &
100,000,000 100,000
= 50,216
2 49,784
otxga2dxxg 24 XdH 60,000,000 60,000
= 30,000
= 30,000
O = AEE (BOOK-START) AL
2,000,000& = 1JH A 2,000
&< 1,000
= 1,000
Ostnits A2 of2t 2494 XN
5,000,000& 5,000
SS9 d 89 128,870 85,111 43,759
201 gBt2A | 87,170 77,861 9,309
01 AP 22| H| 66,007 60,512 5,495
Ogst=2H| 14,257
—AMESE F¢ 60,000& = 12& 720
—AMAITHE F¢ 7002 « 1000H 70
—dJ|I2HtHE 5 150,000& * 2= 300
— e s s 2¢ 1,320




AN 23HSD
N 23 0sAE
Helr 20z MY (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
-l Y 5,000& * 20& * 123 1,200
-l 2 10,000& = 1& Xt « 128 120
—JIAZH =2 130,000& * 122 1,560
—&0lEts 2¢ 20,0003 = 2& Xt = 128 480
—SEA AHFAHT 2L
12,100& = 1004 = 12& 1,452
— 2 a3 150,000& * 33/ 450
— &I tEAA =2 250,000& * 12 250
—HIZ2Y (I, Ea) 200,000& * 32 600
— Y0 AHRE 7Y
1,150& = 15& = 128 207
— &4 HOAE SEX 2
27,000& = 2& X} + 12E 648
—gX=2=e & v+ 2,000,000 2,000
—dAZE 2l ¥ FXH  150,000& = 33 450
~FUDYYR ELHEL WE
50,000& = 150H 750
—gdAZ 2 ARHEY s A€ WA
3,000,000 = 14l 3,000
o2g+g 51,350
- gXNzgdyd 28+ 51,350
AE 2 HF&x=E 70,0008 * 128 » 23 1,680
DT20Y 2 (AAMR)
100,000& = 5% * 82 = 9Z 36,000
2 A Y| 60,0003 = 102 6,120
=Y 25,000& » 302 7,550
Oul=l 400
—gl=232dd 2258 7
200,000& = 1& = 28] 400
02 =224l 16,163 17,349 N1,186
02223 % HA 13,342
— &3tz FAH 400,000& * 12 400
SEES ¢t RER
2703 = 1,00001 = 33l 810
- &4xER3 790& * 55m « 12& 522
— otx=&ER= 380& = 55m x 123 251
- dIIes 10,093
2R 5,610& = 64kW = 123 4,309
ANELRS 96.40& = 5,000kW * 12 5,784
— =2 3 BEs 500,000& * 13l 500
— SIMNERES 30,000& = 23 60
- 239d g3l 600,000& * 13 600
- Rogs= 8,800&  12& 106
OAEZHI S X 2,821




2AM: 2=
HH: S3l=srE
S 230 Al (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— A=K XHl 821,000 821
— JI A &Yl = Xl bl 2,000,000& 2,000
03 HALS H I 5,000 0 5,000
Ol Hote Otegd= 5 5,000,000 5,000
401 Al HIL 201 25,000 6,000 19,000
01 Al &bl 25,000 6,000 19,000
O Al & H| 25,000
— Y X2 otLf2tE B
4,000,000& * 24 8,000
— g X232 89 XNE HAMU &
7,000,000& * 1JH 7,000
— Y X239 & UNEH B2 £
10,000,000& * 14 10,000
405 XhAHE S| 16,700 1,250 15,450
01 Mt = S F SHI 15,700 250 15,450
OgAZ Al st A3 700,000& * 14 700
OdX&Ege & gAd 28717 #¢
5,000,000& * 3CH 15,000
02 &M+t 1,000 1,000 0
OENMXgs 7 10,000& = 100 1,000
AMNEHZ 22F 312,651 61,500 251,151
101 @121 8] 22,517 0 22,517
04 JIZtHIZ22NHEE 22,517 0 22,517
OGN A2 2tel 14,197
—-J|I=23 38,8803 * 1Y » 290 11,276
— U2ty 38,8802 * 1% * 412 1,595
-4l EE = 12,869,280 * 0.103 1,326
OF22ded 40,0003 » 2Y x 2 x K2 8,320
201 Bt A | 112,614 56,500 56,114
01 AFR2 22l Yl 54,642 30,700 23,942
Oget+=gH| 36,345
— AR ESHI| 100,000& = 12& 1,200
— A2 22 HE P 150,000& * 128 1,800
—SANE2UES 1 3,000,000& = 14 3,000
—&o|2tdEg 2 2d2tX 2
100,000& = 12& 1,200
—CAB ANX Y ERE R
100,000 * 25 * 43| 800
— A2 IS (RFY) 1,150& = 2,0000H 2,300
— S AN RFIDEH D 2 4902 = 5,0000H 2,450
—SANEHRFE) 1,200& = 1,00004 1,200




2A: 2SH=
HH: S3l=srE
S 230 Al (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— 3Rz 22 Dl = (=)
0,000 = 42 120
—HIZE &3 Z2IH 2=2(EW)
5,000 * 28 50
— 33 MNEM M 1,500, 000& 1,500
—HBEAMEY AR2E 22 4,420
SAD|, HA ARE 2 1,220,000& 1,220
D2y ARE 2 200,000 =* 53] 1,000
2etTely A28 2
200,000 = 53] 1,000
cMADD ARE P2 100,000 * 123 1,200
—MYIIEE Y BLEE 7Y
100,000& * 123 1,200
— &) o= 52,700 * 204 = 12&€ 1,265
— &4 ARE FU(SEX, BEH, &5
Hs) 100,000& * 12& 1,200
— NHE Hi0ledA BHAI 400,0008 * 2= 800
—PCE HIOI2H A HHAI 30,000& * 172 510
— L EAF 710,000 = 12 710
—SAI(Eg) ot e A2 =42
270,000& = 12& 3,240
—AYUHFAIL Bl YROY 442
170,000& = 12&€ 2,040
— &It AL HRUE =2
250,000& = 12& 3,000
— ROl HHIAIAE SAH| 150,000& * 12& 1,800
— A SA 135,000& * 43| 540
OZ2&H| 1,152
— A 02t ¥ FL2 R 24
6,000& * 29 » 8 x 12& 1,152
OF == 17,145
-2 2d9sY 16,025
2 AH| 60,000& * 1¥ = 115 6,900
= & H]| 25,0008 * 1Y x 3652 9,125
— SN2 2ERARYSG Y
0,000& = 8Y = 23 1,120
02 332494l 48,022 20,800 27,222
03322 % XA 35,214
—&I|=2 2,000,000& = 12& 24,000
— Mot E= 120,000& =« 12& 1,440
—OlHY dE3H AFEE  473,0008 *» 128 5,676
— 2 X OIAIKI(SMS) AtE22
202 * 5,000 x 12€ 1,200
—HEXNE BN S £E528z
3008 * 802 x 12&€ 288




AN 23HSD
M o= s
Helr 20z MY (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
—RdYs 2 TVAEE 30,0008 » 12& 360
—SZHe 23 100,000& =+ 23l 200
—SEA2E 3 500,000& * 13l 500
— 2 gg 50,000& * 12 50
—&sx FaHl 500,000& * 13l 500
— M= EAH 1,000,000& = 12l 1,000
OAE ZHIS X 12,808
— S A2 S22 1,000,000& 1,000
—SHA2EEUNZ2ACIAMNLAE SXES 1,028
DetA(KOLAS 111) |XIE+
10,197,000& = 0.15 = 1.1/128 = 48 561
- 222 (0RACLE) R XIE=
7,466,0009 * 0.12 = 1.1/128 * 48 329
-HEXUHES(SNS) AIAE X2
3,119,0009 = 0.12 = 1.1/12&8 * 48 138
—WAHATEY N RN+
10,112,000& = 0.12 = 1.1/128 = 48 445
— 2SS4 EH RAE+ 2,818
SN ¥ 2HEH |FXNE+
92,527,000& = 0.08 = 1.1/12&8 = 48 2,715
-UE/RIEH SN2
3,497,000& * 0.08 = 1.1/12& = 43 103
—RFID T AZCIAIAE RXES
94,940,000& * 0.08 » 1.1/12&8 ~ 38 2,089
—CCTV "X E=
12,288,0008 * 0.08 = 1.1/128 » 48 361
—EWoIXl RXE+ 667
—Aag, JI|, AL X2/
200,000& * 122 2,400
—SMZ BEE2(R2) § Ea 2,000,000 2,000
03 AH2 I 9,950 5,000 4,950
O=Ad 2208 29 9,950
— T A2 =2t TAE
150,000& = 1& = 23] 300
—SAH2 2 M 150,000& » 1% = 33 450
—SNMLA ZAE 150,000& = 1& = 83l 1,200
— N2 HARS 5,000,000& 5,000
—=SARE 23 3,000,000& = 12l 3,000
202 O Hl 2,920 0 2,920
01 = LH 4 Hi 2,920 0 2,920
OEM2 28 HRFE (bl
20,000& = 2% * 73¥ 2,920
207 & 51 OH £ Hl 39,000 0 39,000
02 & AR I 39,000 0 39,000




fAM: 2=
A BU=TE
& 230z At (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZHe EHO0IX 2= 6,000,000& = 14! 6,000
OLeS AZEYAH 7 13,000,0008 * 1A 13,000
OBLSs 848 F 20,000,000& = 14 20,000
301 et a3z 4,800 5,000 A 200
10 HALAHI 242 4,800 5,000 A 200
OEM& XH&S AKX
10,000& » 4% = 10 = 12& 4,800
401 AIEHI L 201 10,000 0 10,000
01 A& HI 10,000 0 10,000
OSSN BESHALE X £ 0old
100,000& = 303 & 3,000
OEN2 O=2RA 20 £X 5,000,000 5,000
O2& Higtd o &xl 2,000,000& = 124 2,000
405 TtobH SHI 120,800 0 120,800
01 AL EFSFH S 43,800 0 43,800
OdYsH ALE 30,000,000& * 10K 30,000
oHag 2&=J ¢ 800,000& * 1CH 800
OHMA=I F¢ 10,000,000& = 1CH 10,000
OdMAE I 72 3,000,000& * 1CH 3,000
02 =M=l 77,000 0 77,000
OEM2 A 10,000& * 5,000& 50,000
ogZx 2,000,000& * 32 & 6,000
(OFSPNES 50,000& » 200% 10,000
o= 100,000& * 50& 5,000
Ome DVD 30,000& » 200& 6,000
E R ™ ALY 97,734 0 97,734
J| 69,300
< 8,511
e 19,923
301 et a = 97,734 0 97,734
J| 69,300
< 8,511
s 19,923
01 MEIBEE 6= 97,734 0 97,734
O=ZstHt R M AL 97,734,000 97,734
J| 69,300
< 8,511
s 19,923
Zstilzs g3 1,413,628 794,083 619,545
J| 5,000
=2 23,500
< 55,000
[ia 1,330,128




2N
X ZH -
L= B

el

M0 MO MO

- _ _ RE]
M. (3H) - NSAY - BAS %Eﬁ HR=2
230z s 349,393 400,975 N51,582
201 LBt 9 ]| 28,193 19,495 8,698
01 AP 22| H| 8,110 9,412 A 1,302
Ogbt4=24| 1,680
— QP Yl BBED BYEL2
140,000 = 12&€ 1,680
O2d+g 840
— 0PIl 2SM==2s S QIHA =&
70,000& = 2% x 63 840
Oex= 5,590
— AL =M XS LI
300,000& * 3CH * 4L 3,600
—AEAHNUD| B2HED 2AX 1,000,000 1,000
— ot AH oI X Xt
1,100& * 3000H = 34 990
02 2% H| 83 83 0
O2222 2 MA 83
—EHAHNYD B2HED MRS 83,000& 83
03 &AL EH| 20,000 ,000 10,000
OZT=tA 2 2,000,000& = 103 20,000
202 04| 9,900 ,880 A 1,980
01 2Ll 9,900 ,880 A 1,980
O2Fllsge =& 165,000& = 5Y x 12& 9,900
203 ¥ R =& H| 2,700 ,000 1,700
03 Al =& 2 = X H| 2,700 ,000 1,700
O=slsgs N 270,000& » 103 2,700
301 LBt A= 600 600 0
10 HAFAHI B a2 600 600 0]
Ot EZ2 HalMAX AlHIE A
100,000& = 29 = 3 600
307 2Iz2t0| A 268,000 ,000 A 30,000
02 QIZ2tA3 A X 17,000 ,000 4,000
O 0ixss=sM &8 2 s=2s4H(FA=S
T, 25% R) 6,000,000 * 2E= 12,000
OBYR s%dsts 29 N
5,000,000& * 13| 5,000
04 QI2H8H AL R 251,000 ,000 A 34,000
O23ol=&=sHA 3,500,000 = 103 35,000
OM11g RE MEfEsHM 20,000,000 * 13 20,000
OHM193 &s4¢ ol &8 &H& 3,000,000& = 13| 3,000
OHMI31e Dl=&AE Al 3,000,000& = 13| 3,000




fAM: 2=
A BU=TE
& 230z &S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXx7sl Zes A 523
20,000,000& = 13l 20,000
OXM108 MIStAIML S
10,000,000& * 13l 10,000
OHMli4z @axEs A8t 2ME
10,000,000& * 13l 10,000
OXN132 Zels ?As sEFSA=
10,000,000& * 13l 10,000
o&g 22=2&0l=H 10,000,000& * 13l 10,000
O8Y s Bdla 20,000,000& * 13l 20,000
Ostztat 22 e 293
10,000,000& * 13l 10,000
OHM1al 2=Z3tH JH = 100,000,000 100,000
401 AIEHI L 2 CHYI 40,000 70,000 230,000
01 A& HI 40,000 70,000 230,000
OZUESTFALE ME =&
10,000,000 * 13l 10,000
Ogd=0I0ted =284 5 T3 AM
30,000,000& = 13l 30,000
HdSeUE2stes X 126,000 47,000 79,000
203 YR =&t 1,000 1,000 0
03 A FAH S =AY 1,000 1,000 0
O=2zesdMN F& X 200,000& = 53| 1,000
301 et A= 69,000 19,000 50,000
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—GADIEFAIR HIY HA
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2,000& » 723m 1,446
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—AE2A Y A2 ESEH S %2l
500,000& * 23] 1,000
202 044l 7,920 5,940 1,980
01 SLHOYI 7,920 5,940 1,980
o=z gR=a 165,000 » 4H » 128 7,920
204 AR HH| 1,200 1,200 0
03 EZ YR 1,200 1,200 0
OUSIZSH (FRAE 2H2)
50,000& = 2% ~ 123 1,200
206 M= Hl 5,000 3,500 1,500
01 =8l 5,000 3,500 1,500
OM=H ¢ 20,000& = 1004 2,000
ORsEEHMe 45+ 1,000,0008 » 184 1,000
Oxd=+ & stx 7 500,000& = 45 2,000
207 O] 30,000 0 30,000
02 & AHIH I 30,000 0 30,000
OFZU2B SHOIX 2=
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401 Al HIZ 201 I 60,000 128,000 A 68,000
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2,000,000& * 1CH 2,000
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& 450,000
< 157,500
e 292,500
401 A& HIZ 201 8] 900,000 0 900,000
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< 157,500
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01 A& HI 900,000 0 900,000
OtlEel IHE =& dAI2 cl228 MY
900,000, 000& 900,000
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< 157,500
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307 gl2tol & 1,153,000 1,143,000 10,000
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5,000,000& = 23| 10,000
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307 2Iz2to| A 103,000 60,000 43,000
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OEZHM=z 29| 50,000,000 50,000
OEFGEZHOIEEAHE 3 5,000,000& 5,000
OEBLH2sd U= X 29|
8,000,000& 8,000
OgEZ sAINISEsH %4l 35,000,000 35,000
OFEZMEN=E 23 L XNEXNH &&X W
= 5,000,000 5,000
Ml Z2)d XK 14,792 17,240 N2,448
< 2,937
= 11,855
307 giztol A 14,792 17,240 N2,448
= 2,937
= 11,855
02 QI2tAH A & 14,792 17,240 AN2,448
OdsE Tz ) 9,792,000& 9,792
o= 2,937
= 6,855
OMEHSDA 2229 JHSE 2
5,000,000& = 13 5,000
AN MEMSNEX X2 193,458 193,458 0
J| 66,240
= 127,218
307 QI2t0| ™ 193,458 193,458 0
J| 66,240
iy 127,218
02 QI2tAAME X 193,458 193,458 0
OXLM MEH XA YK
1,840,000& * 6 » 12& 132,480
J| 66,240
= 66,240
OXLM MEHSAZA E=SH BEX
200,000& = 6YH = 12& 14,400
OMEEIEXNEXN ¢
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Jl 55,200
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= 800
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307 QI2t0| & 1,600 2,000 A 400
< 800
= 800
02 QI2tA3 A X 1,600 2,000 A 400
OMEN=E NFSAH &4 1,600,000 1,600
= 800
iy 800
2EZd 32 ALY 560,680 530,680 30,000
= 29,000
iy 531,680
201 Bt A H| 6,120 6,120 0
02 53294l 6,120 6,120 0
03322 % XA 1,120
—&FHEZd Y g 22 1,120
INE=PN! 80,000& * 13 80
SIAMNEREE =2 20,0008 * 23| 40
B8 = 1,000,000& * 13l 1,000
(@PNE=FaR=1a:] 5,000
-¥Ruey 1y 22 L 2FH
5,000,000& 5,000
301 LBt A= 554,560 524,560 30,000
= 29,000
= 525,560
MU= - 2S2ESEA2 554,560 524,560 30,000
Ooxgzs 33 29 500,000,000 500,000
o= 29,000
= 471,000
OEzZd 3 402 E 34,560,000 34,560
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06 I 20UStE2xS 125,000 130,000 A5,000
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4,000
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4,900

640
1,460

S

M

307 21201 & 7,000 32,387 25,387
4,900

640
1,460

S

M

02 QIZtFAE X 7,000 32,387 N 25,387
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S
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I NEEgs & Aldzd
Sl MSAE2 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
HEHSAE & 639,526 974,809 A 335,283
101 @124 H] 12,738 12,021 77
04 DIt Z22XsE+ 12,738 12,021 77
Oolgd=sa2 2el 12,738
—Jl2= 38,880 * 18 * 260 10,109
—5d2f=g 38,880% * 19 » 37¢ 1,439
—4A 8= 11,547,360& = 0.103 1,190
201 fet2E | 23,848 21,848 2,000
01 At 22l bl 4,248 4,248 0
Oget+=ZH| 4,248
—olZM=a2 1,416
fodH 2HHI| 88,000& » 12& 1,056
34835 S 7Y 72,0008 * 5% 360
— g3 1,416
fogatl 88,0008 * 12& 1,056
3483 S ¥ 72,000& * 53] 360
—SuIcF 1,416
FfeE9l 88,0002 » 123 1,056
483 S 7¢ 72,000& * 53] 360
02 524t 19,600 17,600 2,000
0332 &£ MA 19,600
—OlgH s 2 (Mg, &&= 5)
5,500,000& 5,500
—gX2cF (M2, 48 )
6,000,000& 6,000
—GUIEF(HIE, 42EE 5)
4,300,000 4,300
—gGXNERF(HIZ, 48 )
2,000,000& 2,000
-7 IE2sF(HIZ 8) 1,800,000& 1,800
202 o4 4l 5,940 5,940 0
01 ZLHOHI 5,940 5,940 0
OMsAE=S2el 165,000 * 3% * 1238 5,940
401 Al HI L2 THHI 595,000 910,000 A 315,000
01 Al&HI 595,000 910,000 A315,000
OgXl or& Ftl 60,000,000& 60,000
Ogolits EHIEAMY 40,000,000 40,000
OEAN=EE |RNE= 50,000,000& 50,000
OUENMESE H2AAML S
25,000,000 25,000
OgX&Ed &5 120,000,000& 120,000
O¥gse2d2E 2X 300,000,000 300,000
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405 RHoHE S HI 2,000 5,000 A 3,000
01 AL EZFH S 2,000 5,000 A 3,000
OMEHS MR Yuy) 2Y(1242c3T
&) 2,000,000& 2,000
AT HEANE RNE+ 70,000 87,000 A 17,000
401 Al HIZ 201 Y| 70,000 87,000 A 17,000
01 A& HI 70,000 87,000 A 17,000
OLE 88 HMISAMES RAES
5,000,000& = 145™ 70,000
FYALXIONS 22 400,000 250,000 150,000
403 MHXSHHSA=0l& 400,000 250,000 150,000
02 S| 2SO0l CH&HCH & Ar B 400,000 250,000 150,000
OFEAZ=IIA |EUH OE 29H XA
400,000,000 400,000
FEAZXNST &0 =4 500,000 0 500,000
401 AIEHI L 2 CHYI 500,000 0 500,000
01 A& HI 500,000 0 500,000
O X 01yl 500,000, 000& 500,000
dad BS54 2,020,073 880, 181 1,139,892
= 104,190
& 500,000
J| 66,672
< 46,689
s 1,302,522
HdAd B4 2,020,073 880, 181 1,139,892
= 104,190
& 500,000
J| 66,672
< 46,689
s 1,302,522
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J| 39,014
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s 52,835
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-2 2 FIRIYEH 130,000& * 128 1,560
J| 780
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307 giztol A 11,000 9,000 2,000
J| 5,500
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02 QI2tA A X 11,000 9,000 2,000
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—stES o8 CIHIOIE tal 4,000,000 4,000
J| 2,000
= 2,000
—sn=E"E gy 9224 7,000,000& 7,000
Dl 3,500
= 3,500
405 XH&HF S HI 3,000 4,700 A 1,700
01 XAt =3 F S HI 3,000 2,700 300
Oo0lsal & Tz Ae 2 3,000,0008 ~ 1CH 3,000
HAUE AN8EH 140,300 166,000 A 25,700
201 gBt24d| 30,000 10,000 20,000
03 A2 G H| 30,000 10,000 20,000
OA2HE 3AY UtAME ME =20
20,000,000 20,000
ORI DEAAHIZ LI AFS 10,000,000& 10,000
203 €2 F&d| 500 500 0
03 AIEH =& 2 F X Y| 500 500 0
ONs3sAd s=sX2 100,000& * 53] 500
301 et A= 3,000 2,000 1,000
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10 HALA B2 A2 2,000 1,000 1,000
OdAL & WAL Adl 24
200,000& * 103l 2,000
12 JIEE43 1,000 1,000 0
O&FAYE Soida MADEAS 100,000 = 108 1,000
307 21201 A 45,000 45,000 0
04 QIZHHALE & 45,000 45,000 0
OHM13sl HEz HFAHE0IE =R
25,000,000& 25,000
OFAY otHABE &3 10,000,000& 10,000
O"1388"&# 44 H20tY 10,000, 000& 10,000
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01 A& HI 50,000 86,000 36,000
OZuEAY 2s2d |RAE= 50,000,000 50,000
405 XHoHF S HI 11,800 22,500 A 10,700
01 AL EZFH S 11,800 22,500 A 10,700
OgddEad 23t § A Y Z2Ig) # 6,200
— HAJ 400,000& « 1CH 400
— ZEHII 800,000& * 1CH 800
— g8 CCTV & Xl (1200) 5,000,000& 5,000
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— 4324 1,000,000& * 1CH 1,000
—HED 1,000,000& = 1CH 1,000
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